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[bookmark: _GoBack]Some Responsive Grid Fun

1. Using a grid with 1200px full width and a content area of 1180px, calculate the percentages or pixels for the following features:

a. A header that is 1000px wide = _____________% wide
b. A box on the left that is _________px wide = 70% wide
c. A box on the right that is 262px wide = ___________% wide
d. A footer that is __________px wide = 92.592593% wide


2. Create a brief sketch below of what the above layout would look like and name each of the boxes:















3. Write the CSS code below to create each of the boxes. Give each box a 1px solid border and image there is 10px of space between the bottom of one box and the top of the other.
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